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Unit 5 Part 2 Review #2 Worksheet

3.Tri Infermediate Algebra A

For 1-3, what are the solutions (Zeros) of the given graph?
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For questions 4-6 the graph of a quadratic equation is shown. Tell whether the discriminant is positive,
negative, or zero.
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4). What is the discriminant? T a) L
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b) How many and what type of solutions are there? b) 2« KU\X ( Rﬂ"\' L ma«o

¢) Solve this equation by QF AND graphing. ) X : :)) . X = 5

Quadratic Formula
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2) What is the discriminant? o 12}

b) How many and what type of solutions are there? b) < gw (Za}d N M}
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¢) Solve this equation by QF AND Factoring. o X7 3 X 3
Quadratic Formula Factoring
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9. 22%-36=0 mel
2) What is the discriminant? 2) 288
b) How many and what type of solutions are there? b) l Reﬂ/‘ <\ WO\«’\'\GY\Q\ )
¢) Solve this equation By QF AND Square Roots. c) X 3 E X= —3 ‘Yi
Quadratic Fo Square Roots
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10. x24+x=2

a) What is the discriminant? a) q

b) How many and what type of solutions are there? b) 2/ R%I (R&l‘t" 1 ana / >

¢) Solve this equation using ANY method of your choice. c) X = 2~ X= l
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11, 4x*+1=4x e 2
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a) What is the discriminant? - o a) O
b) How many and what type of solutions are there? b) \ R%\
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¢) Solve this equation using ANY method of your choice. c) X -z e
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12. A volleyball is spiked and followed the path described by the equation h = -16t* = 55 t+ 10,
where h is the height in feet the ball is off the ground and t is the time in seconds. How much
time do the opposing players have to hit the spiked ball before it hits the ground? Solve this
using ANY method of your choice.
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